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MP2: Two events occur at locations xi and x2 and at times 7 and 72 in reference frame S.

a. What is the time difference, At’ = t; — t; between these two events in a reference
frame S’ that is moving with speed Bc in the positive x direction relative to S ?
Your answer should be in terms of Az, Ax, B, and y, where At =t, —t, and Ax =
X2 =X

b. Describe the special case of x; = x;.

¢. Find B such that the two events occur simultaneously in S’ and describe any
limiting conditions.

" ) /4' Lorm"’( %M 5‘5/‘ mehn 9 WeS

At =1 /Af _ Ay (
I=p" C )

b) DA h14 Cebe

At . At

JI=

thc,(_ )37—4,[/ A’f”’ >A'}’ Thys is

h-”bw/n ws o time dilatian,

O=<_L _ AXp
WZ(A+ =



Sice  pL | = | ca<ax
This Means Tl — Taverelf /wa“o
(/\ 5)1 = (cAHZ,. (A/t/l < o

7%/6 L’J/JS fr- sl ectia) R'_-par'a,(c_ S
gl ne, Aél i$  heriont, Thl«é, e r¢7a,/c)
Hht

A

As) <o

or: The Two cvents mud e S,WQ-/AC
Sepecrst.



